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3,281
1,407

23,440,000

= H W

23,440
23,440

18,752
3,281
1,407

13,828

9,612

= H W

364,832
182,416

54,725
127,691

322,336

42,496

101 212 dl

= Hn W

364,832
182,416

54,725
127,691

322,336

42,496

04 J12tX 2
O©Z0qel

1 HU
haal
on
H

EIDAPN

B =<0 N&A

364,832,000&

= H W

364,832

364,832
182,416

54,725
127,691

322,336

42,496

M
=
H
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=
x
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=

= H A

431,744

40,000
215,872
175,872

333,692

98,052

307 212tol &

= H A

431,744

40,000
215,872
175,872

333,692

98,052

3
>
o

ASTNi
Pl
HL
FA

©
44

HL
fon
=
nx
H0

431,744,000

= H A

431,744

431,744

40,000
215,872
175,872

333,692

98,052

o
S
HT
fol
=
X
Mo
02
o

= M A

139,392
30,000
69,696
39,696

130,459

8,933

307 212+01 A

= H AL

139,392
30,000
69,696
39,696

130,459

8,933

10 At S X2

OHIIESAIE2H(01L)

139,392,000

= H A

139,392
139,392

30,000
69,696
39,696

130,459

8,933




S EOI=X D
Ha: FojoI=T 2
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SNBSS - MEAY - BES 04l &k 24

=

i

J2H
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S
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0y

+=3otSAHEH 234l 268,502 235,609 32,893
26,000
134,251

108,251

H0

= H A

307 21Z2tol & 268,502 235,609 32,893
26,000
134,251
108,251

= H A

10 A2l SRIE2X 268,502 235,609 32,893
HUEH2H(01) 268,502,000 268,502
26,000

134,251
108,251

= H A

ZOHoISSHEIIAE2H(01) 311,916 284,943 26,973
50,000
155,958
105,958

= H H

307 212+01 o 311,916 284,943 26,973
50,000
155,958
105,958

= H A

10 At S X2 & 311,916 284,943 26,973
O OIEER2H(01L) 311,916,000& 311,916
50,000

155,958
105,958

= H AL

ORI =X & Xtel X 195,600 133,980 61,620
97,800
29,340
68,460

= H W

307 212+01 A 195,600 133,980 61,620
97,800
29,340
68,460

= N W

10 A2l SR 2 X 195,600 133,980 61,620
OZ ol =X X2l X & 195,600,000 195,600
97,800

29,340
68,460

=N W

ZOHAAIE EA0STHE &3 EX 24,000 9,000 15,000
12,000
12,000

= H

307 212+01 A 24,000 9,000 15,000

12,000
12,000

=

10 At S X2 & 24,000 9,000 15,000




SM: FUASK D
Ha: ZojoI=R P

&2l HOHISX Jletxd (ctel: &
_ _ _ Muo
SNBSS - MEAY - BES 0l &k o4 e HlnE2
O&MIAIE EIAOIS ANEEHZXA
24,000,000& 24,000
L= 12,000
Al 12,000
MSEMOH HiEe wH ¥ H2AZ0otsS MEX=HI 7,000 26,000 A 19,000
(X3
301 etE a3 7,000 26,000 219,000
01 At 2E " =0dll3 7,000 26,000 A 19,000
OMASHOY MSEXMO el LMAS
40,000& = 1004 4,000
OFAHO0Ots MEXI=ZHl 3,000,000& » 1H 3,000
ZOHQISXIZAL I A XI& 6,000 9,890 23,890
301 etE a3 6,000 9,890 23,890
10 HAAHIE A= 6,000 9,890 23,890
OEXNOootetEUa &IHodgl 50,0003 * 409 2,000
OBMNFL =XCHEl EIIOiH
40,0003 * 50 2,000
O&=XNMEOHAE A EIHHHI
50,000& * 409Y 2,000
ZOHSXSTAIY 2F (AL, &Hl) 950,660 645,400 305,260
307 QIz2tol A 950,660 645,400 305,260
10 A3 = X2 X 950,660 645,400 305,260
OF=F=Al ZOHQLEH g2z 24
22,400,000& 22,400
O3 uazg 6,000,000& * 1JH2 6,000
OosdXNZHH 24 12,000,000& » 10424 12,000
OMIIEOHAITHE DEANY 2H
64,000,000& * 1JH2 64,000
O F2 FRHUE 2Y
800,000& * 12& = 1A 9,600
O=s0tel=7ua 2F  16,000,000& 1A 16,000
OLEXNMO 2L20UHE2Y
4,800,000& *1JH A 4,800
O MAEEHT A/SAHE 2&
23,000,000& * 1JH= 23,000
OZ0iots HESW 2  3,800,000& = 23l 7,600
OFSHH 24 30,000,000 * 102 30,000
OB XAIEAAX E2FAFY  500,000& + 123 6,000
OFMIMNE HAY SSXNIANY 29
33,000,000& * 1JH2 33,000
OFOOIXE s BE5Z2 1SS H (S0l
TE=XR) 1,200,000 * 10 « 12& 14,400
OAZEML BXLNSAME 2
4,000,000& * 1JH2 4,000
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D Zojo=x P

I‘I iH

9= X2t

CHel: ZOHQI=X JIEtEA (St &=
) _ _ bolEN=
2N - 3= .2 (SH) - - HAS A oH @;OH Hl =2
O SSE A b Xg
* BOAIZE * 1102 = 12 657,360
OZ 0ol = X2t @3 X(hs & =2
I =) 3,0002 * 5,000 15,000
OIS E XD ==XM)| X
5,500,000& * 1JHA 5,500
O Z ZHoHo! SAY 29
10,000,000 10,000
OZ0Hel ARE X} 10,000, 000 10,000
ZLOHQICHHl SHAF XIS 55,500 55,900 A400
307 @12+01 ™ 55,500 55,900 A400
10 AFBI 2 X2 X 55,500 55,900 A 400
ORI & SHA 18,000,0002 * 13 18,000
O& X =02 & A} 3,000,0008 * 13 3,000
OFFAl 6.3=0t012 & &AL L SE 02X
=3 15,000
O NERS & At
3,000,000 * 104 3,000
O3HAHUSE #A 2,000,000 * 104 2,000
OZOHCl 2IIME AF 2,500,000 * 1A 2,500
OXZZOHCl 2D A 2,000,000 * 1HA 2,000
OAIEZONCl X225 3,000,0008 * 104 3,000
OAZZEOHCI=XITHE 2,000,000 * 1JHA 2,000
OZoHeloi 2 &0 5,000,000& * 102 5,000
ZOHQI T2 X 2 AME 29 ) 97,960 95,992 1,968
=2 34,000
[= 29,388
Al 34,572
307 @I2+0| ™ 97,960 95,992 1,968
2 34,000
[= 29,388
Al 34,572
10 MBI EXIEX 97,960 95,992 1,968
OMIIEOHQ!l =3SIHEMHIAMNEH2H(01Y)
97,960,000 97,960
=2 34,000
[= 29,388
Al 34,572
ZOHQI M H| X 82,300 45,900 36,400
[= 41,150
Al 41,150
307 @12+01 ™ 82,300 45,900 36,400
[= 41,150
Al 41,150
10 AHBIEXIEX 82,300 45,900 36,400
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Ha: ZojoI=R P

ERl: ZOHRISX It d (etel: =3
_ _ _ Muo
SNBSS - MBAY - BES 0 & 24 e {imE=Eh
OO WSHIXIA 82,300,000 82,300
= 41,150
Al 41,150
ZONUNESX ALY 23 250,000 160,000 90,000
= 125,000
Al 125,000
307 212+01 A 250,000 160,000 90,000
< 125,000
Al 125,000
10 AHI SR E2x 250,000 160,000 90,000
OFOMHLINIEXNZEH 2 250,000,000& 250,000
= 125,000
Al 125,000
STSHHAXNSHYEHEHZ2S 70,000 100,000 230,000
S 35,000
Al 35,000
307 212+01 A 70,000 100,000 230,000
< 35,000
Al 35,000
10 AHRI S X2 X 70,000 100,000 230,000
OSSN SU2MH2E XA
70,000,000& 70,000
S 35,000
Al 35,000
e =& X3 16,000 16,000 0
301 et el = 16,000 16,000 0
01 Bl 2EE =052 16,000 16,000 0
ondEesaad=s X 16,000
O&&oel(1~23) 1,500,000& + 5&H 7,500
OGEEM(3~43) 1,000,000& * 5% 5,000
O &Eel(5~62) 700,000& * 5¥ 3,500
Z0i0ts MEXIHSXH 821,712 833,210 A 11,498
= 575,198
< 73,953
Al 172,561
307 212+01 A 821,712 833,210 A 11,498
= 575,198
S 73,953
Al 172,561
05 2I2tRIE = 821,712 833,210 A 11,498
OZOHotS MHEXISHIR2MALY 821,712,000 821,712
= 575,198
= 73,953
Al 172,561
e AtSl &S (H*H )X 7,464,976 2,911,921 4,553,055
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531,899
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= HnH
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S
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,464,976 2,911,921 4,553,055
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o
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0
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S(Ht=H) X2
7,464,976,000& 7,464,976

6,205,483
531,899
727,594

= N W
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O
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0
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o

HHSXMAMBIA XI& 312,284 240,600 71,684

93,687
218,597

=

307 212+01 A 312,284 240,600 71,684

93,687
218,597

=

NP 312,284 240,600 71,684

312,284,000& 312,284

93,687
218,597

= H

A=K S 4,188,668 5,328,272 A 1,139,604
3,138,007
403,459
647,202

= H W

301 et at= 4,188,668 5,328,272 21,139,604
3,138,007
403,459
647,202

=MW

01 MBI 2EE =52 4,188,668 5,328,272 21,139,604
Er= 4,188,668,000& 4,188,668

3,138,007
403,459
647,202

= Hn W

AHLEY UM AtY 67,000 31,652 35,348
46,900
6,030
14,070

= N W

307 212+01 o 67,000 31,652 35,348
46,900
6,030
14,070

= Hn W

05 2I2tR &= 67,000 31,652 35,348
O HISH MY 67,000,000& 67,000
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2
R
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o
£l
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46,900
6,030
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= NN
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9,900
23,100

= H

307 212+01 ™ 33,000 0 33,000

9,900
23,100

=

10 At S X2 & 33,000 0 33,000
ONHMEMHAHAANL JI=XNEHH =S
33,000,000& 33,000

9,900
23,100

=z H

AMZEOIE ItATISE DI XA 6,400 0 6,400
3,200
3,200

=

307 212+01 & 6,400 0 6,400

3,200
3,200

= H

02 QI2tF&Ex 6,400 0 6,400
OAZEOMR JtAXsSZ XD K&

6,400,000 6,400

3,200

3,200

= M

ZOHQ SR 2HE X & 38,844 42,240 A3,39%6
11,654
27,190

=z H

307 212tol & 38,844 42,240 A3,396

11,654
27,190

= H

10 A2l S RI2X 38,844 42,240 A3,396
OO R2IHE X2 38,844,000 38,844

11,654
27,190

=

TN AUEE HSAIY 8,890 10,000 A1,110
4,445
4,445

= H

307 212+01 ™ 8,890 10,000 A1,110

4,445
4,445

= H

2= 8,890 10,000 A1,110
HASE ESAY 8,890,000& 8,890
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=

o
o
e
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™
O
>
0
=
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)
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49,400 25,000 24,400
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2
R
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o
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24,700
24,700

=

307 212+01 A 49,400 25,000 24,400

24,700
24,700

=

10 At S X2 X 49,400 25,000 24,400
o

OFMALZEUSH=I| N2 dEH 2
49,400,000& 49,400
24,700

24,700

=

HAZOHR! DAL 0! A XIR(012) 70,000 0 70,000
28,000
42,000

=z H

307 212+01 o 70,000 0 70,000

28,000
42,000

= H

10 ARl SRIE2 X 70,000 0 70,000
O A ZONC DAL= Dl AP X2 (01)
70,000,000 70,000

28,000
42,000

=

SHOIEONQ BMWSEI|I2 AIH2H 140,000 0 140,000
70,000
70,000

= H

307 212tol & 140,000 0 140,000

70,000
70,000

= H

EES 140,000 0 140,000
OMQIZOO BUDSIIZ NE2Y
140,000,0002 140,000

70,000
70,000

=z H

ZOHAESEX AHAS 219,120 0 219,120
65,736
153,384

=

307 212+01 A 219,120 0 219,120

65,736
153,384

= M

10 AFRI S X2 X 219,120 0 219,120
SEX AEAZ 219,120,000& 219,120

65,736
153,384

=z H

Zoe 217 FLLX 20,000 0 20,000
20,000

in

401 Al EHIZ 2O YI 20,000 0 20,000

20,000

!

H




SH FU=XD
M3 HojQI=R P&

CHol: ROHQI=R JIPIEH (oA
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2

01 Al&H| 20,000 0 20,000
OFOHOl 25717 &X(55) 20,000,008 20,000
= 20,000

Adeg JPEs 7,418,576 6,370,904 1,047,672
= 612,079
= 4,805,671
Al 2,000,826

QI MBAI LS (ZOHQIMEALSH(01)) 5,556,918 4,543,546 1,013,372
= 3,874,842
Al 1,682,076

307 QI2+0| & 5,556,918 4,543,546 1,013,372
= 3,874,842
Al 1,682,076

10 AbBI =X 2% 5,556,918 4,543,546 1,013,372
OFOHQIMEAILSH(01Y)  5,556,918,0002 5,556,918
= 3,874,842
Al 1,682,076

OO EAIEI S22 1,204,158 1,634,194 410,036
= 612,079
= 612,079

307 2I2+0| & 1,204,158 1,634,194 410,036
= 612,079
= 612,079

10 ABI =X 2% 1,224,158 1,634,194 410,036
OO MEAILISEY  1,224,158,0002 1,224,158
= 612,079
= 612,079

TONQIXI AL THEHAI A D1 S22 (012) 607,500 0 607,500
= 303,750
Al 303,750

307 2I2+0| & 607,500 0 607,500
< 303,750
Al 303,750

NEEEES 607,500 0 607,500

OFOHAXIAASI HEAL JIS22(01Y)

607,500,000} 607,500
= 303,750
Al 303,750

ZHSCAYUATBAGA S4X2Y 30,000 30,000 0
= 15,000
Al 15,000

307 Q120 & 30,000 30,000 0
= 15,000
Al 15,000

10 ABI =X 2 = 30,000 30,000 0




S EOI=X D
Ha: FojoI=T 2
ol AlSRY J|U A (B9 &2
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OFE=L dHANE L2

30,000, 000& 30,000
15,000
15,000

= M

FEAANE 2SI Ed 1,689,994 1,205,359 484,635
185,000
100,000
793,848
611,146

= Hl AL JY

0
B

QAL JIsE

0

370,000 0 370,000

185,000
185,000

= W

307 212+01 A 370,000 0 370,000

= 185,000
Al 185,000
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370,000 0 370,000
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HeaHMelAld &X)

370,000,000 370,000
185,000
185,000

= W
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x
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945, 161 933,030 12,131

756,365
188,796

= M

307 212+01 A 945,161 933,030 12,131

756,365
188,796

= H

10 I SXIEx 945,161 933,030 12,131
OFUNURAANLE 24 945,161,000& 945,161

756,365
188,796

= H

ARISAHAE2EH 22X 374,833 272,329 102,504

100,000
37,483
237,350

= H A

307 212tol & 374,833 272,329 102,504
100,000
37,483
237,350

= H A

SANEX 374,833 272,329 102,504
OZ L EEAAFAHAIE SEHI 374,833,000 374,833
100,000

37,483
237,350

= M A

el 52X sd 49,401,940 50,480, 173 A 1,078,233
28,288,710
1,303,250
7,063,534

HAC




SN FOI=XD
HE: ol =X 57
SRS IE P 3= (S92
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod e HlnE2
A 12,746,446
o= JIPEY 45,842,467 49,432,573 3,590, 106
2 27,809,354
= 1,303,250
= 6,887,227
Al 9,842,636
TR S (LX2IEE) 1,322,727 1,012,460 310,267
301 LB 1,208,727 9883, 460 220,267
12 JIEH2 A2 1,208,727 988, 460 220,267
CONETIETpEIPAR
4,580 * 2A12t * 6002 * 1902 1,044,240
owolgTiel EHOK ATEE 2
1,044,240,0002 * 11/1,000 11,487
OSIol AASE NV
1,700% * 300 * 252 * 122 153,000
307 ©I2+0I & 114,000 24,000 90,000
05 0129t 3 90,000 24,000 66,000
OS2I0t0l F AL ALY
200,0002 * 50 * 9B 90,000
BRIEEEES 24,000 0 24,000
045 LUTSHAT 24,000,008 * 1L 24,000
TOIUAE 2 XY 3,706,727 5,009, 702 A1,302,975
= 2,824,036
Al 882,691
307 QI2+0IF 3,706,727 5,009,702 ~1,302,975
= 2,824,036
Al 882,691
EEESEES 3,706,727 5,009, 702 A1,302,975
OLolRY0la 2(01%)  3,706,727,0002 3,706,727
= 2,824,036
Al 882,691
CQIZ R AS 381,700 382,700 A1,000
201 YBr2 | 7,800 6,800 1,000
01 AL 22 bl 7,800 6,800 1,000
OLQIoy MNALE S H442
200,008 * 921 1,800
OLoI=NZEOIY BT M
1,5002 * 4,0000H 6,000
301 LB BAS 3,600 3,600 0
10 BAAHI 243 3,600 3,600 0
ONOIEZHE S &I} 3,600
OLQIHOIES IR0
20,0008 * 30% * 43l 2,400




M FUSXD
Ha: ol 2X 5T
Chel wol=X| JIEEy EER-E
- _ _ ME
SH BB O(B) - NRAY - BAR Off &F o8 0] Ak o HRZ2
OLQIALEH &HIIX Albl 24
20,0008 * 30 600
Owoldetes 2oMsl &0t
20,0002 * 30% 600
307 ©12+0I & 370,300 372,300 A2,000
10 MBI =X 2x 370,300 298,300 72,000
owolys 2y 10,000,0008 * 1J§24 10,000
O koo & 2Y 7,300
Octest 700,0002 * 94 £ 6.300
Ool=tl 200,0002 * 574 £ 1,000
OMHO BRI ME (BFA LSS EI )
19,200,0008 * 1J§4 19,200
OR2SHEHRABRY (HFANCUSHEX)
14,400,00080 * 1J§24 14,400
OYRF2HE A} 5,0002 * 60,000 300,000
0019 A 15,000,0008 * 13l 15,000
OOt 0l &AL 4,400,0008 * 18] 4,400
ALIOI2Y Jlzey 800,000 800,000 0
= 100,000
Al 700,000
307 12+0I & 800,000 800,000 0
£ 100,000
Al 700,000
10 A3l =X 2= 800,000 800,000 0
OALIIZ2Y 29 200,000,0008! * 4744 800,000
< 100,000
Al 700,000
Lol HsEAEs X 12,330 12,000 330
53 2,520
Al 9.810
307 12+0I & 12,330 12,000 330
=3 2,520
Al 9.810
10 AtBl =X 2= 12,330 12,000 330
Lo EEAEESXRA(01Y) 12,330,000 12,330
S 2,520
Al 9.810
COIURRIANY (YRR KR (2L RUEYI)) 2,114,460 1,944,630 169,830
= 1,057,230
S 105,723
Al 951,507
307 212+0I & 2,114,460 1,944,630 169,830
2 1,057,230
& 105,723
Al 951,507
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NP 2,114,460 1,944,630

,114,460,000& 2,114,460
1,057,230
105,723
951,507

= N W

Lol =SEEAMEIA 428,400 428,400
299,880

38,556
89,964

=MW

307 212+01 o 428,400 428,400
299,880

38,556
89,964

= HnH

&
e
e
40

428,400 428,400
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1,221,160 1,221,160
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681,160
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307 212+01 o 1,221,160 1,221,160

540,000
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HI (400 4 )

1,221,160,000& 1,221,160
540,000
681, 160

= [

o
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0
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o
v
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21,985 21,985

4,397
17,588

= H

307 212tol & 21,985 21,985

4,397
17,588

= H

EN 21,985 21,985
g dgog X 21,985,000 21,985

4,397
17,588

=

MNAS THIOHQIAIAL B E ALY 193,500 193,500

53,250
48,375
91,875

= M A

307 212+01 A 193,500 193,500
53,250
48,375

H [T
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Al

91,875

10 MBI SXIEx

OMASTHI - QTAIALHH EF AL (012)
193,500, 000&

= H A

193,500

193,500
53,250
48,375
91,875

193,500

0k
tu
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oo
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il
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=
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= H A

720,000

80,000
180,000
460,000

720,000

307 21Ztol &

= H A

720,000

80,000
180,000
460,000

720,000

10 At3I =X
0&=2

Jz

SSAAL(012) 720,000,000

= M A

720,000

720,000

80,000
180,000
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04 QIZ2tHALE = 60,750 44,000 16,750
OO0 0old &AL 60,750
OO &0l 2 &HXI & AL 60,750,000& 60,750
AME0ts 0N & =St &Hl K& 51,510 85,337 A33,827
= 20,604
Al 30,906
307 21Ztol 51,510 85,337 A33,827
= 20,604
Al 30,906
10 AlRISXIE X 51,510 0 51,510




D HEIEN

M- ®=Z . Che (5 NEAS . T2 Al OH HEE Hl =2+
O EFIOM & F=steidl XA 51,510,000& 51,510
& 20,604
Al 30,906
d0ts XNSUE 3,000 2,850 150
307 QI2tol A 3,000 2,850 150
04 DIZHHALE = 3,000 2,850 150
OOtsLEAILE OtsHSUE
3,000,000& = 13 3,000
t==XIAl4 Otz XEesl 6,000 6,000 0
307 2120 A 6,000 6,000 0
04 QUItHAIE X 6,000 6,000 0
O0ISLYE A4 0t MESSHI
1,500,000 * 4002 6,000
SIHEFESYAeXNZHH2Z 80,000 0 80,000
307 S12H0| & 80,000 0 80,000
10 AtBI =X 2= 80,000 0 80,000
OO0ISIHEASE X ZHEH 2
80,000,000 * 1JHA 80,000
AROIESZ X2 AS 61,825, 131 51,252,019 10,573,112
= 40,455,079
= 13,485,026
Al 7,885,026
307 S12H0| & 61,825, 131 51,252,019 10,573,112
= 40,455,079
= 13,485,026
Al 7,885,026
10 At =X E X 61,825,131 51,252,019 10,573,112
OYROIEESST XA (19,147H)
61,825,131,000& 61,825,131
= 40,455,079
= 13,485,026
Al 7,885,026
5MI0t Selitd 2L X3 11,614,451 0 11,614,451
& 11,614,451
307 2I2tol A 11,614,451 0 11,614,451
= 11,614,451
10 AtEI =X E = 11,614,451 0 11,614,451
OBLAMIOF S=elntdE XI& 11,614,451,000& 11,614,451
= 11,614,451
= ALRFRI 24 H] 9,431,955 10,331,740 AB99,785
= 6,019,174
& 2,006,390
Al 1,406,391
307 S12H0| & 9,431,955 10,331,740 AB899,785




SN 0EIIED
Hm: B89 ZZY s L OIS=X 4

ol OSEXDIBES CEERE
_ _ _ N E
SH-EH . S2(30) - MRAY - BES 0f Ao i aon HRE2
= 6,019,174
= 2,006,390
Al 1,406,391
10 At =S X2 X 9,431,955 10,331,740 A 899,785
OB A1 Al XI&(964Y)  9,431,955,000& 9,431,955
= 6,019,174
= 2,006,390
Al 1,406,391
A2 56,736 55,140 1,596
= 34,042
= 11,347
Al 11,347
307 2IZtol ™ 56,736 55,140 1,596
= 34,042
= 11,347
Al 11,347
10 Al2IS X2 X 56,736 55,140 1,596
Oxrer 2 Al (280 4 ) 56,736, 0002 56,736
2 34,042
= 11,347
A 11,347
AN o OIS AIE0IE 2HAH KR A 510,000 555,000 45,000
307 21zZtol 510,000 555,000 A 45,000
10 AlRIS X2 X 510,000 0 510,000
ONBY HOIBSAILOIS 2HAl]
500 * 3,400% * 3002 510,000
SSAEEIQS 177,000 125,100 51,900
& 70,800
Al 106,200
307 21Ztol & 177,000 125,100 51,900
& 70,800
Al 106,200
02 Q1P A BE 77,000 125,100 51,900
OBSAA BIlOIE SBIAH X
2,000,000 = 7502 150,000
& 60,000
Al 90,000
OIS FoI42E KR (10042)
27,000,000& 27,000
= 10,800
A 16,200
ERDA Si43 6,600 12,800 £6,200
201 Lyt Y] 600 0 600
01 AR 2t eld| 600 0 600
OEFUA BEEE M 1,000& * 1009H 100
OESFUA BEEE =X 5,000& » 100 500




SN 0EIIED
Hm: B89 ZZY s L OIS=X 4

o9l OS=XIINES (69 &)
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 il i~ o Rz
307 212H0| & 6,000 12,800 6,800
02 Q1AM B E 6,000 12,800 6,800
OAN&Z 2 SFDA H4 3,000,002 * 23] 6,000
2ZHAL DR 2 41,000 31,200 9,800
307 212H0| & 41,000 31,200 9,800
10 ABl =X 8= 41,000 31,200 9,800
ORTYHOIAIL DD T
1,000,008 * 41944 41,000
AN - BY OFF BEAL2A 79,500 0 79,500
307 212H0| & 79,500 0 79,500
10 Aal =X 8= 79,500 0 79,500
OYUAFLOFHE F A& Wit 71,100
022, #ol, ALFAIL
100,000 * 90JH 4 * 62 54,000
ONHBIAIL 30,0008 » 95HA 62 17,100
O24A2F BSAIE A
14,0008 * 2% * 252 * 122 8,400
DR 287,815 330,500 £42,685
= 172,689
& 57,563
Al 57,563
307 212H0| & 287,815 330,500 ~42,685
=2 172,689
& 57,563
Al 57,563
NEEEES 287,815 330,500 £42,685
O T (3537 4 ) 287,815,00024 287,815
= 172,689
= 57,563
Al 57,563
BEANLAHF AL LN 21,900 3,120 18,780
307 212H0| & 21,900 0 21,900
02 IHAMEE 21,900 0 21,900
OlRIOI=0IAIE SRR AA4E
300,008 * 73H 2 21,900
SEAL DA 2N EHIX 3,607,200 2,304,000 1,303,200
= 961,920
Al 2,645,280
301 YR A 3,607,200 2,304,000 1,303,200
= 961,920
Al 2,645,280
01 A B H X 253 3,607,200 2,304,000 1,303,200




A 0EIED

HM: P90 ZIH A3 L ots=2X A
SRl OlES=2XDIEtXS (&te @
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
OBSDAMMHRIM&HI(3,340H)
2,404,800,0002 2,404,800
[= 961,920
Al 1,442,880
OBSIMHRIMEE SHIIA(3,3409)
30,0002 * 3,3409 122 1,202,400
WAZ2 R &Z | 1,225,166 0 1,225,166
= 735,100
[= 245,033
Al 245,033
301 LB A2 1,225,166 0 1,225,166
= 735,100
[= 245,033
Al 245,033
01 AZIE & E 562 1,225,166 0 1,225,166
ONAMN2S ML 1,225, 166,000 1,225,166
= 735,100
< 245,033
Al 245,033
SEANAXHA 1,920 0 1,920
202 O4H| 1,920 0 1,920
01 2U0ddl 1,920 0 1,920
ESAE NESEA o
20,0002 * 4% * 30 * 80% 1,920
wWEHAMA 422,000 0 422,000
308 XXISHHISO0I & 422,000 0 422,000
06 WSI| 202 X2 422,000 0 422,000
OxXss=Ena2IN
27,000,000 * 11JH1 297,000
OANIB2=L==2nNa2FX
12,500,000 * 10JH w Al 125,000
gs 822 I 44,835 0 44,835
[= 35,686
Al 9,149
307 @12+0| ™ 44,835 0 44,835
[= 35,686
Al 9,149
10 AFBI 2 X2 X 44,835 0 44,835
ogns B2 44,835,000 44,835
[~ 35,686
Al 9,149
SSAIL00 205221 2,918,118 2,186,772 731,346
= 1,750,871
[ 583,623
Al 583,624




SN HAIIED
Hm: B89 ZZY s L OIS=X 4
Sl OIS =XIDIBEY (el &

OH
i

SN CR(EH) - NRAY - BES ]

Pa
=1
R
J2H
=
EJ
Ol
0y

301 et as 2,918,118 2,186,772 731,346
1,750,871
583,623
583,624

= H W

A6 2,918,118 2,186,772 731,346
OE=sA4 0l0I80ts L= (1,906Y)

2,918,118,000& 2,918,118

1,750,871

583,623

583,624

= HnH

0
2
2
0
Ho
for
i
oo
=5
pal
o

21,000 0 21,000

307 212+01 ™ 21,000 0 21,000
0 N 21,000 0 21,000

=S
304 A 21,000

B3 BESAY (22 UAEFSAE 29U X 603,840 291,008 312,832
)

362,304
120,768
120,768

= H W

307 21Z2tol & 603,840 291,008 312,832
362,304
120,768
120,768

= Hn N

S
>
tou
>

8x 603,840 0 603,840
BSAE YT (17MA)

603,840,000 603,840
362,304
120,768
120,768

©
0B
00 it
og

= H W

E=FAl4 01018 Ao Ol =22 XA 140,000 210,000 A70,000

56,000
84,000

=

301 et as 140,000 210,000 A70,000

56,000
84,000

= M

ooz 140,000 210,000 A70,000

140,000, 000& 140,000

56,000
84,000

=

ZOoIEE 2FAE 2 2] 72,000 0 72,000
36,000
36,000

= H

307 212+01 72,000 0 72,000
36,000
36,000

= H




SN 0EIIED
Hm: B89 ZZY s L OIS=X 4

&Rl OtsS=AIIE Y B (el &)
_ _ _ N E
SN H - SR(EH) - NPAMY - BES 0il & o o HlE2
10 Al2ISXIEX 72,000 0 72,000
OZOHOIEEOE 0 283 21AHl K&

72,000,000& 72,000
= 36,000
Al 36,000

ANE2gI|etxd 44,638 105,671 261,033
< 36,500
Al 8,138

OlsSXAIEIHEALS 36,500 0 36,500
= 36,500

402 QI2EX201 M 36,500 0 36,500
= 36,500

01 QtXRI=2E X 36,500 0 36,500
OXSotsdE AL SBHA 36,500

ool X<gotsdH

18,500,000& = 1002 18,500
< 18,500

OFES N otsdH

18,000,000& = 102 18,000
S 18,000
OE0IERXNAIELXZ 8,138 7,671 467
307 212tol & 8,138 7,671 467
02 B LB X 8,138 7,671 467
OZ20e0ld Xz 3,230,000& * 1JHA 3,230
OUEN& ol Xtz 4,908,000& * 1HA 4,908




N = 0l & AF & F Al A

SN HABHD
HE: #H2YAY (FLHF D)
Sl QS AH (FABT D) (et & 2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
PS Tl 31,927,596 29,277,093 2,650,503
= 1,874,000
= 449,500
Al 29,604,096
EEEETIEPS-"T<In) 910,614 516,682 393,932
HEEETIIERSE ) 700,435 278,460 421,975
o124l 700,435 278,460 421,975
101 Q1 24t 700,435 278,460 421,975
CESIPEESIERS 700,435 278,460 421,975
0YEY =2XHE 29
1,000 * 1,200P * 2232 267,600
O BARLA ALY 432,835
oJlez 170,676
~251101 &4~261 0] Bt
1,685,008 * 1% * 128 20,202
~21110] &4~2214 0 8¢
1,629,510 * 4% « 122 78,217
~20110] &4~211 0/ ¢
1,506, 1302 * 2% « 122 38,308
-9\ 0| &4~ 101 01 2F
1,413,6902 * 2% * 128 33,929
04013 94,066
SJl24Y 1,900,308 * 9 « 43| * 50% 34,206
-¥324Y 1,900,308 * 9F « 23] * 50% 7,103
L
1,900,300% * 9% « 53] * 50% 42,757
omuLg 101,600
~S4QR SAX 42
90,0002 * 9% * 128 9,720
-mel FE4Z 70,0008 * 9F + 128 7,560
~H2LYIE 100,008 * 9F + 122 10,800
bELg 8,520
NS 40,0002 * 9% * 128 4,320
TS 20,0008 + 162 * 128 3,840
20 PUERS/IE=
30,0002 * 1% « 128 360
UEETH RSN 9,718
sty 51,9902 * 52 * 43l 1,040
L 433,880 * 5% * 43| 8,678
-E2U2e4Y 55,282
Fa224+g
71,8409 * 150% * 9F * 42 « 122 46,553
NETIELEE
8,980% * 150% * BAIZH * 9F + 122 8,729




N = O &

A

FA: HAMF
HH: HAH2AAH(HLAEED)
©el: QERAY (HFAMAD) (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
O=cl=4hl 37,804
==l 160,000& = 99 » 128 17,280
SCEESI]
1,900,300& = 60% » 9F * 23] 20,524
O=d=X 17,100
a4l 80,000& » 9& » 123 8,640
-g+=g 50,000& » 9% = 12& 5,400
-Egoigd M=l 70,0003 » 9¥H 630
- &X A 70,0003 = 9¥ 630
-F=4 150,000& = 18 » 128 1,800
OeXREF =< 71,840 » 9F » 15¢& 9,699
Ol =l 70,0002 » 3& * 9¥ 1,890
|2ZH(ZFAsE D) 210,179 238,222 A28,043
Jl=&Hl 210,179 30,396 179,783
201 dEt2 A 181,979 12,372 169,607
01 A2 2telH] 57,172 11,472 45,700
oJl=2dR=d 253l 9,840,000& 9,840
OJIFEZHl(S&l)
6,000& = 25& » 80 = 90% 10,800
OETHl 2 XA
6,000& = 38 » 150 2,700
OYRAW U NAZLE F4I| MER
60,000& » 1CH = 12& 720
oY=Asg 28,860
Oogd==d 60,000& » 1& » 116¥ 6,960
O 60,000& » 1& » 365& 21,900
OBtAHIIZ HESHA(2,000%) M=
50,000& » 208fA 1,000
Ollgd 2% U=l 70,000& » 15 * 8% 560
O&JItEAA L&l ===  182,600& * 12 2,192
o3JIHdEtrg 250,000 = 23] 500
02 Z33&4H 124,807 900 123,907
OAN&EHI =Xl 1,950
OLE= AP 15,000,000 = 1CH * 6% 900
O&XN= A =8I
3,500,000& * 20H * 6% 420
O2AAIEII 1,500,000& * 2CH * 6% 180
Olfgd 22N #3435 Yl
45,000& » 105 450
OXtSIHAl 2t XAl 872
O4xdsd 260,000& = 1CH = 13l 260
Oadgsl= 26,000& * 200 = 13 52
O=8s2(58) 80,000& » 1CH * 12 80




FA FadH
M HY2ITH(FAHF D)
el JIEZdl(34Ad8E ) (el &
SA - HB S (30) - NRAY - Ba S 0fl &t e HIDE
OUEs=(8.58) 120,000 = 1CH » 13l 120
Og = (158) 180,000& = 2CH = 13 360
OIMERES (XS E) 970
Oxgsd 47,0008 = 10H = 23] 94
OAdsl=s 64,0003 » 20H * 23 256
Os8s2(58) 160,000& = 1CH » 23l 320
OUEs=(8.58) 150,000& = 1CH = 23] 300
OXeEEZ (MY, BF) 2,110
Oxdsd 200,000& = 1CH = 13 200
OAdsl= 280,000 = 208 * 13 560
Os8s=2(58) 550,000& = 1CH = 13l 550
OUEs=(8.58) 800,000& = 1CH » 13l 800
o8I 288 2,100
O =412 53 350,000& = 6CH = 13 2,100
oxteg & STl dAle=8 506
Oxt& 55,0003 » 504 * 13 275
o=&Hl 38,5002 * 6CH * 13 231
OUE&d &l
1,350& = 22|E = 8AIZ2t = 30H » 90 5,832
O&HI=Xbl 1,793% = 4,0002I8 » 123 86,064
OXte e et 4,000,000& * 5CH 20,000
otigal SEUFI =L 50,000& * 4CH 200
oI =2l 700,000& = 1CH 700
ORHSAIHI (S ECCTV) 200,0008 = 128 2,400
(OFSkoig s, 7,7003 « 100 « 123 93
OALLS=MT(HAIHNA)
28,0502 30 = 12 1,010
202 O4H| 24,000 13,824 10,176
01 =LHOdHI 24,000 13,824 10,176
©Jl=2&Hl 20,0003 » 259 » 60 * 80% 24,000
203 ¥Rl 4,200 4,200 0
04 FEAEE S 2T 4,200 4,200 0
ORNEZEERFAYI 350,000& = 12& 4,200
Es desd &4 29,056,982 26,528,611 2,528,371
= 1,874,000
= 449,500
Al 26,733,482
Medl e WRE Helxd 1,428,800 1,416,190 12,610
= 135,000
< 40,500
Al 1,253,300
30I=tE 2el 55,040 4,690 50,350




SN BARED
M M dEEd 2d
el Mgdl 8l MWRE AHelxd (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
201 et A | 10,040 4,690 5,350
01 AR 2t eld| 6,600 600 6,000
OstZac|d FNEBWS(4 - otEHI| AAl) 600
OZ2HItE 100,000& * 1A = 23] 200
OZA=E 200,000& = 1% * 23l 400
OASRa 2 J=2g: = &5 ZHl
3,000,000& 3,000
OgZ&cId XY 2 HRFI SEHI
3,000,000& 3,000
02 2324l 3,440 3,040 400
OSZ&cId AR S22 3,440
O3 RE= 200,0008 » 10 + 23] 400
Oflgs wsotd W=3ldl 40,0008 » 13 40
OsZ&c/d AFA AZEHl =]
3,000, 000& 3,000
203 P =&l 1,000 0 1,000
03 AIEF= &R 1,000 0 1,000
oZac/d g FXA 1,000,000& 1,000
301 et a3 44,000 0 44,000
10 HAIAHIE &3 44,000 0 44,000
otz |3 & HelAE Kl
2,000,000& = 229 « 13l 44,000
Ml SEM & HE & B 1,057,260 991,500 65,760
206 T 2 bl 867,200 810,500 56,700
01 M Z 4l 867,200 810,500 56,700
OXIIESEN AE3SE HH 867,200
oystg 754,200
-5elH 22% = 100,0000H 2,200
-102/H 3432 = 3,300,0000H 112,200
-202| & 50 = 6,700,0000H 335,000
=302/ & 83& =+ 100,0000H 8,300
-502IH 1158 = 1,600, 0000H 184,000
-OtCH (5021E) 3402 = 250,0000H 85,000
-OtCH (10021 E) 550& * 50,0000H 27,500
OZ228 113,000
502/ & 1153 = 600,00004 69,000
~0tCH(10021H) 550& = 80,0000H 44,000
301 et a3 1,000 1,000 0
12 J|Et2 43 1,000 1,000 0
OSHAZAESE | &1 243
500,000& * 23| 1,000




A EAHED
mu: me MBEY XA
el Mgdl 8l MWRE AHelxd (ctel: &
SN HB SR (BIH) - A - B S 0l &b S D=2
- cTo=m IO T ° - [EEMREECES &= 0:”/‘l|_% WS
307 21zZtol 189,060 180,000 9,060
05 QI”tRIEE 189,060 180,000 9,060
OMYIIZ2H AASE BUHHHSLE
6,302,000,000& * 3% 189,060
HANA HAX Y 316,500 420,000 A 103,500
= 135,000
= 40,500
Al 141,000
405 KHatE =S| 316,500 420,000 A 103,500
= 135,000
& 40,500
Al 141,000
01 XML EEHSHI 316,500 420,000 A 103,500
OFAHINA HAX 7Y 316,500,000& 316,500
= 135,000
= 40,500
Al 141,000
HIIZ Xel & 2 5,157,280 5,085,440 71,840
HJIZ Xl 4,279,425 4,228,350 51,075
201 et A | 7,700 5,460 2,240
01 AR 2t eld| 7,700 5,460 2,240
OUEMIIZ QY ZH++a
200,000& = 122 2,400
OHJIZ NEEZH MA RO
7,000& * 10& = 123 840
OSHME HIIS Melx==2
300,000& = 10 3,000
O=YUE HIIZ2 =&&H =
400,000& * 1 * 33 1,200
OFRAZZE II=H| 130,000& = 29H 260
202 (44| 4,080 4,080 0
02 NI 4,080 4,080 0
OQHIIBXN&EHs =8
170,000 = 2% * 128 4,080
207 & 2IHEHI 25,000 0 25,000
01 2= 25,000 0 25,000
OMBHIIE HHTY XF L ANY LT
BHEDE & ES 25,000,000& 25,000
307 212toI ™ 4,242,645 4,218,810 23,835
05 BIZtRIE 3 4,242,645 4,218,810 23,835
OMBHIIE 48 - 28 HEssE
1,284& * 190,000AICH * 123 2,927,520
OUHHIIE ML 448
266,000& = 400& » 128 1,276,800




SA EAMEN
mu: Ee MBEY XA
ool HOIS Mel ¥ 2 LD
SN HB SR (BIH) - A - B S 0l &b S D=2
o T - = S = &= 0:”/&,% WS
O=d4d SAE MEHIIS(H5E01L) Ml
= 30,000& * 3.5& * 365 38,325
HOIZ 28 & W= 9,300 12,500 A 3,200
201 Et2dd| 9,300 12,500 23,200
01 AtR2tel 9,300 12,500 23,200
OFARSA Al & SAMH A= 2,900
OARl U 20512 EXE, A= S0
9,000& = 1000H 900
OHALRSX ZEIH(AIL
100,000& = 5% * 43| 2,000
oMl gHEIlHaYe 27 S|
6,000& » 5% » 80 2,400
oMMyl HiE ¢ ¥ EE 4,000
OMgD] 28 & Has s238T M
4003 * 10,0005 4,000
FZIA e 82 SE3M 866, 155 844,590 21,565
401 A& Bl 2 CHYI 866, 155 789,780 76,375
01 A& HI 860,800 786,000 74,800
OFFTHZLAMNSE B EZ 4XHBSE S AHV=27
,600m") 850,000,000& 850,000
OBFAZLAWYE +ZNATEE M
3,600,000 * 34 10,800
03 Al& =01 5,355 3,780 1,575
OBZAZIMYE HYSY 4% SHZA I
Et2 i 850,000,000& = 0.63% 5,355
2320t XAMY 2 2,400 0 2,400
201 Et2Ed| 2,400 0 2,400
02 2323l 2,400 0 2,400
OZ225tfA 2223 2,400
ooy olEz 30,000& * 5JHA * 123 1,800
O&IIR= 10,0002 * 5JHA * 123 600
HOI2 MelAlg &1 & 29 2,233,670 6,187,928 A 3,954,258
Bd Z29A2AANE 2F 731,767 3,609,006 A2,877,239
201 et2Ad| 20,000 0 20,000
01 AR 2t eld| 20,000 0 20,000
Ox2AlIE HIIZ 2E ZHIYXE
20,000,000& 20,000
207 A SIH | 136,000 157,000 221,000
01 A1E | 136,000 157,000 A21,000
OFEFT ZIA2AM 2J| S HE s34
HEEXA 76,000,000& * 13l 76,000




SN
X XH .
S Tt

el

S HH O (BH) - HIRAY - BAS Of) & 04 gggf; SmE=L
OFFAH ZYA2UANE X290 OHE sF4
HSFTA 24 60,000,000& = 13| 60,000
307 QI2t0| & 106,417 3,452,006 N 3,345,589
02 QI2tAAMNSE X 106,417 100,006 6,411
OHFA LAULAX FOXNVEYM B 104,417
OA2E FUAANQR 29 U PEHI 104,417
-2NQE 2RLY
75,0003 * 3H x 27 + 12& 72,900
-2ZARH BYDR4Y
75,000& * 150% * 3YH x 60 20,250
-AAEEH=EH= 93,150,000& * 2.82% 2,627
-AIIABE = 2,482 ,440% * 6.55% 163
-=0HZ2822 93,150,000& * 4.5% 4,192
-IE8ges2H=2 93,150,000& * 1.3% 1,211
-MHEE S 93,150,000& * 3.3% 3,074
OBZFABAANE FHOIS 52 ALAS X
AbH] 400,000& = 5H 2,000
401 AlEHIL 24| 469,350 0 469,350
01 Al &HI 466,110 0 466,110
OFS0|IAELEHE XAl SESA
450,000, 000& 450,000
OFEZ0IAEXHE 2LEXlAlE SESA &
Al & H I 450,000,000 * 3.58% 16,110
03 Al 201 HI 3,240 0 3,240
OFEZ0IAEXHE 2LEXHlAld SEZA DI
EIL2HY] 450,000,000 * 0.72% 3,240
ES HEHE 222 814,851 276,922 537,929
201 L Bt2HH| 58,943 36,626 22,317
01 At 22| Hl 31,890 36,626 N4, 736
O E SHHALATZHAI =2 29,440
OBAWYE BES
400,000& = 1JH = 128 4,800
O & Xotx SAE L Hi A =
180,000& = 404 + 42| 2,880
OZHMUE =8 Kol (MEES I|E)
150,000 * 1A * 42| 600
O2Y SIKYE HE4 2 Hels
370,000& * 3 * 427 4,440
O s MEH KXot 2AIE & A=
150,000& * 7 = 42| 4,200
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SASRHIIS AHYX BREE LAY 3,605,700 0 3,605,700
401 Al 2B 2O HI 3,605,700 0 3,605,700
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OSGAHYKAE L SREAE AAEHY
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OAFYNAIL U SREAL X
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01 RSB HNZHED 100,000 200,000 £100,000
0T WY F# Y2TAL X
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OFRAZZE 1=l 90,000& * 29 180
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